RA-RARBC-ACC BACKLIGHT CONTROL

ACCESSORY

ITEM 3
4 EACH PER
LED LENS ASSEMBLY

ITEM 2

ITEM 1
4 EACH PER
LED LENS ASSEMBLY

Shipping Package Contents:

Backlight Control Shield
Qty. 1 (RARBCS80L)

6-32 x 1/2 Torx Head Screw

Qty. 2 (RARBC160L)
Qty. 4 (RARBC320L)
Qty. 6 (RARBC480L)
Material: Polypropylene
Qty. 4 (RARBCS80L)
Qty. 8 (RARBC160L)
Qty. 16 (RARBC320L)
Qty. 24 (RARBC480L)

15 Torx Driver.

2. Remove the lens hold

Installation instructions:

1. Tools required: T

down screws (Item 1). These screws

lift or reposition the LED

used. Do not remove

assembly. It will only fit correctly one way, and the screw

holes will line up.
Install the supplied 6-32 x 1/2 Torx Head screws (Iltem 3).

Torgue to no more than 10 in-lbs.
5. Repeat steps 2 through 4 for each LED lens assembly.

lens assembly.
3. Position the Backlight Control Shield (Item 2) over the lens

will not be re

4.

Technical Support: (864) 678-1000

Current Lighting

Instruction Sheet: 93099926 Rev C

Fax: (864) 898-1065
www.currentlighting.com

701 Millennium Blvd.

Greenville, SC 29607



RA-RARBC-ACC CONTROLE DU RETROECLAIRAGE

ACCESSOIRES
ELEMENT 3
4 CHACUN PAR ENSEMBLE
DE LENTILLES A LED

ELEMENT 2

ELELMENT 1
4 CHACUN PAR ENSEMBLE
DE LENTILLES A LED

Instructions d'installation: Contenu du colis d'expédition:
1. Outils nécessaires: Tournevis Torx T-15. Bouclier de contrble de rétroéclairage
2. Retirez les vis de fixation de I'objectif (élément 1). Ces vis ne Qty. 1 (RARBCS80L)

seront pas réutilisées. Ne pas retirer, soulever ou Qty. 2 (RARBC160L)

repositionner I'ensemble lentille a LED. Qty. 4 (RARBC320L)
3. Positionnez le bouclier de commande de rétroéclairage Qty. 6 (RARBC480L)

(élément 2) sur I'objectif. Il ne s'adaptera correctement que Matériau: Polypropyléne

dans un sens et les trous de vis s'aligneront.
4. Installez les vis a téte Torx 6-32 x 1/2 fournies (élément 3). Vis a téte Torx 6-32 x 1/2

Couple a pas plus de 10 Ib-po. Qty. 4 (RARBC80L)
5. Répétez les étapes 2 a 4 pour chaque ensemble de lentille & Qty. 8 (RARBC160L)

LED. Qty. 16 (RARBC320L)

Qty. 24 (RARBC480L)

Current Lighting Technical Support: (864) 678-1000 _
701 Millennium Blvd. Fax: (864) 898-1065 Instruction Sheet: 93099926 Rev C

Greenville, SC 29607 www.currentlighting.com



